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Xl yl
X y
@ .
g 2 Xy Yn
Xy Y1
3 tang = M2
1+mm,
(&)
(©)
(6)
@)
X =r cosé
y=rsing
r=4x%+y?
tanﬂz% x#00 O (X(x¥)
72
() 0=k k
rcosfd=a( X—
(@) r=k k
r=siné
©
a1 3) r=(1+cos@)=k k
4 r=a(l-cos@) a

®

r=asn36
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(6) r=0

7.3
y? = dax (
2 2
Xy
—+—=-=1 )
a2 b2
a? b2
xy = ¢ ( )
y =rsing X = rcosd ( )
y =bsing X = acosf ( )
y = btan@ X = asecl ( )
y=2 x=ct ( )
y = 2a x = at? ( )
7.4 Xryt=d
XX +yy =& X1y —y1x =0
X2 +y?+2gx + 2fy +¢c=0 (X1 ya)
0]
" _ y=mx+k
(i) y = mck {x2+y2+2gx+2fy+c:0
(i) (X2 y1)
X+ y?+2gx + 2y +¢c=0 (X2 y1) XX +y1y + g(X + X)) +
fly +y) +¢c=0
(@ y? = 4ax (X1, Y1) Y1y = 2a(X + X1)
XZ 2 X, X
(b) ¥+§=1 (1, Y1) a—12+%=1
x? x2 XX Y1y
(@] ?—F=l (X1, y1) ?—b_lzzl
(d) xy =¢ (X1, Y1) yiX + Xay = 267
X =at? _X
@ o y=2sa
X =acosd X Yoo,
(b) {y:bsine EcosBJrEsmafl

© {x = asech

y =btané

Xseco-Ltano =1
a b
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7.6

31

X =ct

(d) _L

=1
(1)
2
(3

X +1t%y = 2ct
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